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NEW QUESTION 1

Which IPv6 address type provides communication between subnets and cannot route on the Internet?

A. global unicast
B. unigue local
C. link-local

D. multicast

Answer: B

NEW QUESTION 2
What are two southbound APIs? (Choose two )

A. OpenFlow
B. NETCONF
C. Thrift

D. CORBA
E. DSC

Answer: CD

NEW QUESTION 3
Which type of address is the public IP address of a NAT device?

. outside global
. outsdwde local
. inside global

. insride local

. outside public
. inside public

TmOoOO®P

Answer: C

NEW QUESTION 4

A network engineer must back up 20 network router configurations globally within a customer environment. Which protocol allows the engineer to perform this

function using the Cisco I0S MIB?

A. CDP
B. SNMP
C. SMTP
D. ARP

Answer: C

NEW QUESTION 5
Refer to the exhibit.

Atlantafesnt ¢

Enter configuration commands, one per line. End with CNTL/Z.
Atlanta (config) faaa new-modsl

Atlanta (config) fass authsntication login defavit local
Atlanta (config) #line vty 0 4

Atlanta(config-line)#login authentication default

Atlanta (config-line) fexit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadmin ]:r;‘.*!l!lll-q'u 15

Atlanta (config) fenabls password ciscslll

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?
A. adminadmin123

B. default

C. testing 1234

D. ciscol23

Answer: C

NEW QUESTION 6
Which output displays a JSON data representation?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 7
What is the primary different between AAA authentication and authorization?

A. Authentication verifies a username and password, and authorization handles the communication between the authentication agent and the user database.
B. Authentication identifies a user who is attempting to access a system, and authorization validates the users password

C. Authentication identifies and verifies a user who is attempting to access a system, and authorization controls the tasks the user can perform.

D. Authentication controls the system processes a user can access and authorization logs the activities the user initiates

Answer: C

NEW QUESTION 8
What is a benefit of using a Cisco Wireless LAN Controller?

A. Central AP management requires more complex configurations
B. Unique SSIDs cannot use the same authentication method

C. It supports autonomous and lightweight APs

D. It eliminates the need to configure each access point individually

Answer: D

NEW QUESTION 9
Which attribute does a router use to select the best path when two or more different routes to the same destination exist from two different routing protocols.

A. dual algorithm

B. metric

C. administrative distance
D. hop count

Answer: D

NEW QUESTION 10
Which two encoding methods are supported by REST APIs? (Choose two)

A. YAML
B. JSON
C. EBCDIC
D. SGML
E. XML

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version 200-301 Questions & Answers shared by Certleader
e — https://www.certleader.com/200-301-dumps.html (103 Q&ASs)

Leader of IT Certifications

Answer: AE

NEW QUESTION 10
What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)

A. when the sending device waits 15 seconds before sending the frame again
B. when the cable length limits are exceeded

C. when one side of the connection is configured for half-duplex

D. when Carner Sense Multiple Access/Collision Detection is used

E. when a collision occurs after the 32nd byte of a frame has been transmitted

Answer: CE

NEW QUESTION 14

What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?
A. The Layer 2 switch drops the received frame

B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.

C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B

NEW QUESTION 18

Which two values or settings must be entered when configuring a new WLAN in the Cisco Wireless LAN Controller GUI? (Choose two)

A. management interface settings

B. QoS settings

C. Ip address of one or more access points
D. SSID

E. Profile name

Answer: DE

NEW QUESTION 23
Which two actions influence the EIGRP route selection process? (Choose two)

A. The router calculates the reported distance by multiplying the delay on the exiting Interface by 256.

B. The router calculates the best backup path to the destination route and assigns it as the feasible successor.

C. The router calculates the feasible distance of all paths to the destination route

D. The advertised distance is calculated by a downstream neighbor to inform the local router of the bandwidth on the link
E. The router must use the advertised distance as the metric for any given route

Answer: AD

NEW QUESTION 28

Which command is used to specify the delay time in seconds for LLDP to initialize on any interface?
A. lidp timer

B. lidp holdtimt

C. lidp reinit

D. lldp tlv-select

Answer: D

NEW QUESTION 31
Refer to the exhibit.
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10.10.10.0/30

10 10 10.16/30 e R
internet

— —_—

= ¥ g T —

Ri#show ip route
Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 4 subnets, 3 masks
C 10.10.10.0/30 is directly connected, FastEthernet0/1
O 10.10.13.0/25 [110/6576] via 10.10.10.1, 01:37:03
C
8

R2#sh run | b router ospf

router ospf 1

router-id 2.2.2.2

I log-adjacency-changes

auto-cost reference-bandwidth 10000
network 10.10.10.1 0.0.0.0 area O
network 10.10.13.1 0.0.0.0 area 0

10.10.10.16/30 is directly connected, FastEthernet(/24
10.10.13.144/28 [110/110] via 10.10.10.1, 01:37:03

R1l#sh run | b router ospf

router ospf 1

router-id 1.1.1.1
log-adjacency-changes

auto-cost reference-bandwidth 10000
network 10.10.10.2 0.0.0.0 area 0
default-information originate

I R2#show ip route

Gateway of last resort is not set

10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks
C 10.10.10.0/30 is directly connected

C 10.10.13.0/25 is directly connected, Vian20

C 10.10.13.144/28 is directly connected, Vian40

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from
the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/257?

A. Traffic to 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface GiO/1.
C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

NEW QUESTION 33
Refer to the exhibit.

Web Server

pr— el g
_ - ——— ~
5 . o
L L N
/AT /TR — IP address
10 30 0 100724
VLAN 20

Switch A Jf Switch B
— Int VLAN 10 - wp address 10 10 0 0/24
VLAN 10 TS Int VLAN 20 - ip address 10 20 0.0/24

Int VLAN 30 — ip address 10.30 0024

A network engineer must block access for all computers on VLAN 20 to the web server via HTTP All other computers must be able to access the web server
Which configuration when applied to switch A accomplishes this task?
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config t

ip acocess-list extended wwwblock
deny tcp any host 10.30.0.100 =g 80
int wvlan 10

ip access-group wWwwWwwblock in

config t

ip acoess-list extended wwwblock
deny tcp any host 10.30.0.100 eg 80
permit ip any any

int vlan 20

ip acoess-group wwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eg 80
int vlan 30

ip access—-group wWwwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eq 80
int wvlan 20

ip access-group wwwblock in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 38
Refer to Exhibit.

’ Se0/0/1 2013 1126 Se0/0/1 —
om : *
" s Washington
Atlarta +Se0/0/0 Se000/ | 0

L01 :: 1 o & 2
ez Static route to Lo1 on Atlanta wia Se0/0/1
Defaut Route /0 va Se0/0/1 ;
Configured routers |PvE addresses
Atlanta
S Senal 000/0 . 20121126
20231126 Senal 0/0/1: 2013.:1/126
Loopback1 2000 1/128
can N A New York.
Se0/00 e Se0/0/1 e, 2 .
3 Senal 0/0/0 - 2012:2/126
_ Senal 00/1 - 202321126
New-York Loopback2 2000 2/128
Lo2 - Washington
Senal 000 2023 3126
Senal 0/0/1 2013 3126
oopback3 2000 3/128

'.-_l’

—

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands

must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta
goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE
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NEW QUESTION 40
Refer to the exhibit.

Router#

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, | - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID

10.1.1.2 Gig37/3 176 RI CPT600 Gig36/41
10.1.1.2 Gig37/1 174 RI CPT600 Gig36/43
10.1.1.2 Gig36/41 134 RI CPT600 Gig37/3
10.1.1.2 Gig36/43 134 RI CPT600 Gig37/1
10.1.1.2 Ten3/2 132 RI CPT600 Ten 4/2
10.1.1.2 Ten4/2 174 RI CPT600 Ten 3/2

Which command provides this output?

A. show ip route

B. show ip interface
C. show interface

D. show cdp neighbor

Answer: D

NEW QUESTION 44
Refer to the exhibit.

| Se0/0/0 3 s Conhgured routers IPv6 addresses
, Atlanta
Afa b # = : . )
Allanta Nashington Serial 0/0/0 2012 1/126

Lo3 Loopback1: 2000:.1/128
- New York
Senal 0/0/0 - 2012 °2/126
Senal 0011 2023 2/126
Loopback2: 2000.2/128
Washington

Lo1

5e0/0/0 Marf Se0/0/1 Senal 0/0/0 - 2023 3/126
E Loopback3: 2000 3/128
New-York
L02

The New York router is configured with static routes pointing to the Atlanta and Washington sites. Which two tasks must be performed so that the Serial0/0/0
interfaces on the Atlanta and Washington routers can reach one another? (Choose two.)

A. Configure the ipv6 route 2012::/126 2023::1 command on the Washington router
B. Configure the ipv6 route 2023::/126 2012::1 command on the Atlanta router.

C. Configure the Ipv6 route 2012::/126 s0/0/0 command on the Atlanta router

D. Configure the ipv6 route 2023::/126 2012::2 command on the Atlanta router

E. Configure the ipv6 route 2012::/126 2023::2 command on the Washington router

Answer: CE

NEW QUESTION 45
Refer to exhibit.
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Router (config) #interface GigabitEthernet 1/0/1
Router (config-if) #ip address 192.168.16.143 255.255.255.240
Bad mask /28 for address 192.168.16.143

Which statement explains the configuration error message that is received?

A. It is a broadcast IP address

B. The router does not support /28 mask.
C. It belongs to a private IP address range.
D. IT is a network IP address.

Answer: A

NEW QUESTION 47
Refer to the exhibit.
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An extended ACL has been configured and applied to router R2 The configuration farted to work as intended Which two changes stop outbound traffic on TCP
ports 25 and 80 to 10.0 20 026 from the 10.0.10 0/26 subnet while still allowing all other traffic? (Choose two)

A. Add a "permit ip any any" statement to the begining of ACL 101 for allowed traffic.
B. Add a "permit ip any any" statement at the end of ACL 101 for allowed traffic

C. The source and destination IPs must be swapped in ACL 101

D. The ACL must be configured the Gi0/2 interface inbound on R1

E. The ACL must be moved to the Gi0O/1 interface outbound on R2

Answer: AE

NEW QUESTION 51
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